Hong Kong Lawn Bowls Association

Debtors Outstanding List as at 23/9/2013

Club	Due Under 30 Days	Due 30 to 90 Days	Over 90 Days	Total Amount
ABC	240.00	0.00	0.00	240.00
AYFP	1,680.00	2,000.00	17,440.00	21,120.00
CCC	2,400.00	0.00	0.00	2,400.00
CdeR	2,400.00	0.00	300.00	2,700.00
CELBC	0.00	480.00	0.00	480.00
CLBC	240.00	1,120.00	0.00	1,360.00
CLP	240.00	480.00	0.00	720.00
CSD	0.00	0.00	15,600.00	15,600.00
FC	240.00	0.00	0.00	240.00
GBLBC	960.00	2,080.00	960.00	4,000.00
GLBC	240.00	0.00	0.00	240.00
HKCC	0.00	800.00	0.00	800.00
HKJC	240.00	160.00	560.00	960.00
HKPBC	0.00	0.00	25,000.00	25,000.00
HKSAP	0.00	520.00	4,240.00	4,760.00
ILBC	960.00	0.00	0.00	960.00
PDLBC	480.00	1,240.00	4,800.00	6,520.00
STSA	1,920.00	1,440.00	0.00	3,360.00
TKOBC	1,200.00	1,800.00	0.00	3,000.00
TMSA	2,400.00	2,080.00	11,586.00	16,066.00
TPLBC	480.00	1,940.00	0.00	2,420.00
USRC	1,440.00	0.00	0.00	1,440.00
VLBC	960.00	1,280.00	0.00	2,240.00
WISC	1,200.00	1,160.00	0.00	2,360.00
WSC	0.00	160.00	0.00	160.00
Total	19,920.00	18,740.00	80,486.00	119,146.00

Hong Kong Lawn Bowls Association Council Meeting on 23 September 2013 at KCC Notes from VP National League

League Panel rulings

Appeals Panel revokes the rulings of M0665 after studying the appeal from HKCC.

Deduct 2 points from VLBC-B due to a registered player playing in W2345.

Deduct 2 points from HEGSC-A due to a player playing two games (M2373 and M2345) on same original fixture; add 2 points to CSD-A for their lost to defaulting team.

Triples League 2013

The league is open for entry. Entry deadline will be 4 Oct.

To confirm the WSC proposal regarding Triples League

- Start time of Saturday afternoon games in public green
- Extend reschedule period from 15 days to 22 days
- Auto assignment of reschedule games

Recommendation on the bye-law changes

The League Panel recommended to change the bye-law 1.30 in the conflict between league game and national competitions.

The League Panel recommended to change the bye-laws a) to cover the penalty for breach of 2.12.c and b) League panel can recommend penalty to CoM if the penalty is not clearly stated in the bye-law.

Report from VP National Championships

National Indoor Women Singles

Winner: CdeR (Tammy Tham)

1st Runner-up: CdeR (Candy Ng)

Ronson Au Mixed Fours

Winner: USRC (C. Ng, J. Lam, A. Chau, K.C. Ching)

1st Runner-up: HKFC (G. Nam, T. Kung, E. Wong, C.T. Wong)

Men National Singles

Winner: KCC (Ken Chan)

1st Runner-up: KCC (Jimmy Chiu)

Asia Pacific Merdeka Singles, Mixed Pairs & Mixed Fours Indoor Championships 2013

- Estimated Budget

as at 3/9/2013

35,299

Venue: Selangor, Malaysia Period: 29/9-7/10/2013 (9 days)

Event dates: 30/9-6/10/2013 (7 days)

Officials: 1 Team manager (Warren Kwok)

Players: 4 players (Ken Chan, Anthony Yip, Tammy Tham & Elizabeth Cormack)

Total: 5 persons

		Items	Estimated Expenditure (in HKD)	
	1	Airfares & tax		12,350
		\$2470 x 5 pax		
)	3	Accommodation and meal package for Team Manager US800@7.8		6,240
	4	Insurance \$298 x 5 pax		1,490
	5	Airport transfer \$200 x 5 pax		1,000
	6	Meal allowance a) Lunches \$100 x 5 pax x 1 day b) Dinners \$130 x 5 pax x 7 days c) Supplement of drinks \$20 x 5 pax x 7 days	500 4,550 700	5,750
)	7	Overseas Internal transport		2,000
	8	Overseas fax & telephone		300
	9	Souvenirs		500
	10	Uniforms a) Shirts \$75 x 2 pcs + \$76 x 4 pcs b) Trousers \$230 X 10 pcs c) Track-suit \$442 x 1 set d) Name badge \$23 x 1 pc e) Dinner shirts \$100 x 5 pcs	454 2,300 442 23 500	3,719
	11	Laundry \$30 x 5 pax x 7 days		1,050
	12	Allowance for Team Manager \$100 x 9 days		900

Total:

3rd Japan International Open 2013

- Estimated Budget

as at 23/9/2013

Venue: Kobe City, Japan

Period: 11-15 Oct. 2013 (5 days)

Event dates: 13-14 Oct. 2013 (2 days)

Officials: Team Manager - Mr. Heron Lau

Players: Tony Cheung, Raymond Ho, Mercredi Yeung & Sanlia Wong (4 persons)

Total : 5 persons

ms:	Estimated Expenses (HK\$)		
Airfares \$5,900 x 5 pax		29,500	
Airport transfer		1,000	
\$200 X 5 pax			
Insurance		900	
\$180 x 5 pax			
Meals Allowance for Players		5,150	
a) Breakfast \$70 x 1 day x 5 pax	350		
b) Lunch \$110 x 1 day x 5 pax	550		
c) Dinners \$180 x 2 days x 5 pax	1,800		
d) Supplement of drinks \$20 x 3 days x 5 pax	300		
e) Dinner with host	2,500		
Entry fee		9,360	
a) USD800 per team	6,240		
b) USD400 for Team Manager	3,120		
Allowance for Team Manager		500	
\$100 x 5 days			
Overseas internal transport		1,500	
Overseas fax & telephone		300	
Souvenirs		500	
Uniform		4,387	
a) Track-suit \$305 x 2 sets	610		
b) Shirt \$75 x 2 pcs + \$76 x 4 pcs	454		
c) Trousers \$230 x 10 pcs	2,300		
d) Name badge \$23 x 1 pc	23		
e) Fleecy jacket \$200 x 5 pcs	1,000		
Laundry		450	
\$30/day x 3 days x 5 pax			

53,547